Math308, Quiz 4, 02/14/14

First Name: ..coovvvvviiiiiiiiiiiienineenns Last IName: .ccovvvviviiiiiiiiiiiieennnenn.



Show all work!

Given the following system of equations:

T - T3 = —2,
3r; + x3 + x3= 8§,
—xr1 + X9 -+ 2{E3 = 7.

Problem 1. 20%. Compute the determinant of the matrix from the system (1).

Problem 2. 80%. Solve the system (1).



Solutions

Problem 1.
1 0 -1
det(A)=| 3 1 1]|=-3.
-1 1 2

Problem 2. The augmented matrix is:

10 —1]-2
31 1| 8
-1 1 2| 7

Now, multiply the first row to -3 and add it to the second row; add the first and the
third rows:

10 —-1|-2
01 4 14
01 1| 5

Subtruct the last row from the second row:

10 —-1|-2
01 4] 14
00 3| 9

And the linear system becomes into:

I — T3 = —2,

) + 41‘32 ]_4,

3.%3 = 9.
Which is easily solved by back substitution:
ry = ].7
To = 2,



